MSc IT Programming – Lab 5

Description of Problem

This is an extension of the previous exercise.  Here is the original description for clarity.

Three people order quantities of the same item to share.  They know the cost of a single item, and that the cost of delivery will always be £4.50.  They would like a program which works out all of the details for them.  They enter the number of items, the cost per item and the name of the item (a single word).  They are then told how much they should each pay and how many items they get each.  Any items left over after sharing them out equally will be given to the first person as a reward for using the program.

Exercise 1

A discount of 10% is given on all orders of over 40 items.  Modify your program to take this discount into account when calculating the prices.  The discount scheme means that it will be cheaper to buy 40 items rather than 39.  Your program should automatically increase the size of the order to 40 when it is cheaper to do so, telling the user what it has done and why.  Show it to your tutor when you have finished.

Exercise 2  (Extension)

The computer program should know about three special items: battery costing 50 pence each, lightbulb at 77 pence and torch costing £3.99.  Modify your program so that the user does not have to enter a price if they select one of the listed items, but they have to enter a price for the others.  You may not be able to finish this exercise in the lab.  You can finish it outside lab time and let your tutor tick it off at the start of the next lab.

This is an extension exercise; so don’t worry if you are not able to finish it.
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